



Common fixed point theorems for generalized ordered contractive mappings on cone b -metric spaces over Banach algebras

Chuanzhi Bai

Department of Mathematics, Huaiyin Normal University, Huaian, Jiangsu 223300, P. R. China.

Communicated by R. Saadati

Abstract

In this paper, we introduce the concept of generalized ordered contractive mappings on cone b -metric spaces over Banach algebras and establish a new common some fixed point theorems of such mappings under some natural conditions. The results extend and improve recent related results. ©2016 All rights reserved.

Keywords: Cone b -metric spaces over Banach algebras, common fixed point, ordered contractive mappings.

2010 MSC: 54H25, 47H10.

1. Introduction and preliminaries

In 2007, Huang and Zhang [3] replaced real numbers by ordering Banach space and defined a cone metric space, and some fixed point theorems of contractive mapping on cone metric spaces are established in this paper. In 2013, in order to generalize the Banach contraction principle to more general form, Liu and Xu [4] introduced the concept of cone metric spaces over Banach algebras by replacing Banach spaces with Banach algebras. In 1989, Bakhtin [2] introduced b -metric space as a generalization of metric space. Since then, more other generalized b -metric spaces such as quasi- b -metric spaces [7], b -metric-like spaces [1] and quasi- b -metric-like spaces [10] were introduced.

Recently, Yin et al. [9] introduced the concept of ordered contractive mappings on cone metric spaces over Banach algebras. They have proved some fixed point theorems of ordered contractive mappings.

Email address: czbai@hytc.edu.cn (Chuanzhi Bai)

Motivated by the above works, in this paper, we introduce the concept of cone b -metric space over the Banach algebra \mathcal{A} and the generalized ordered contractive mappings on such spaces. In this way, we prove some fixed point theorems of generalized ordered contractive mappings on cone b -metric spaces over Banach algebras. Our main theorem extends the main results in [9].

The following definitions and results will be needed in this paper.

Let \mathcal{A} always be a real Banach algebra, that is, \mathcal{A} is a real Banach space in which an operator of multiplication is defined, subject to the following properties (for all $x, y, z \in \mathcal{A}$, $\alpha \in \mathbb{R}$):

1. $(xy)z = x(yz)$;
2. $x(y+z) = xy + xz$ and $(x+y)z = xz + yz$;
3. $\alpha(xy) = (\alpha x)y = x(\alpha y)$;
4. $\|xy\| \leq \|x\|\|y\|$.

In the following, we assume that a Banach algebra has a unit (i.e., a multiplicative identity) e such that $ex = xe = x$ for all $x \in \mathcal{A}$. An element $x \in \mathcal{A}$ is said to be invertible, if there is an inverse element $y \in \mathcal{A}$ such that $xy = yx = e$. The inverse of x is denoted by x^{-1} .

A non-empty closed subset P of a Banach algebra \mathcal{A} is called a cone, if

1. $\{\theta, e\} \subset P$;
2. $\alpha P + \beta P \subset P$ for all non-negative real numbers α, β ;
3. $P^2 = PP \subset P$;
4. $P \cap (-P) = \{\theta\}$,

where θ denotes the null of the Banach algebra \mathcal{A} .

For a given cone $P \subset \mathcal{A}$, a partial ordering ' \preceq ' with respect to P can be defined by $x \preceq y$, if and only if $y - x \in P$. $x \prec y$ stands for $x \preceq y$ and $x \neq y$, while $x \ll y$ stands for $y - x \in \text{int}(P)$, where $\text{int}(P)$ denotes the interior of P . P is called a solid cone if $\text{int}(P) \neq \emptyset$.

Definition 1.1. Let X be a non-empty set and \mathcal{A} be a real Banach algebra. Assume that the mapping $d : X \times X \rightarrow \mathcal{A}$ satisfies:

- (1) $\theta \preceq d(x, y)$ for all $x, y \in X$ and $d(x, y) = \theta$, if and only if $x = y$;
- (2) $d(x, y) = d(y, x)$ for all $x, y \in X$;
- (3) $d(x, y) \preceq s[d(x, z) + d(z, y)]$ for all $x, y, z \in X$,

where $s \in P$ with $\rho(s) \geq 1$ (spectral radius $\rho(s)$ of s). Then d is called a cone metric on X , and (X, d) is called a cone b -metric space over the Banach algebra \mathcal{A} .

Remark 1.2. If $s = e$, then (X, d) in Definition 1.1 is reduced to the definition of a cone metric space over the Banach algebra \mathcal{A} in [4]. If the Banach algebras replaced by Banach spaces in Definition 1.1, then (X, d) reduces to the cone b -metric space, in this case, $d : X \times X \rightarrow [0, \infty)$ and $s \geq 1$.

Definition 1.3 ([3, 4]). Let (X, d) be a cone b -metric space over the Banach algebra \mathcal{A} , $x \in X$ and $\{x_n\}$ a sequence in X . Then

1. $\{x_n\}$ converges to x whenever for each $c \in \mathcal{A}$ with $\theta \ll c$, there is a natural number N such that $d(x_n, x) \ll c$, for all $n > N$. We denote this by $\lim_{n \rightarrow \infty} x_n = x$ or $x_n \rightarrow x$;
2. $\{x_n\}$ is a Cauchy sequence, if for each $c \in \mathcal{A}$ with $\theta \ll c$, there is a natural number N such that $d(x_n, x_m) \ll c$, for all $n, m > N$;
3. (X, d) is a complete cone b -metric space, if every Cauchy sequence is convergent.

Definition 1.4. Let (X, d) be a b -cone metric space over the Banach algebra \mathcal{A} and $T : X \rightarrow X$ be a mapping. We say that T is continuous, if for any $\{x_n\} \subset X$, $x_n \rightarrow x$ implies $Tx_n \rightarrow Tx$ ($n \rightarrow \infty$).

Definition 1.5 ([9]). Let (X, d) be a b -cone metric space over the Banach algebra \mathcal{A} and $\varphi : X \rightarrow \mathcal{A}$ be a mapping. A relation ' \preceq ' (for the sake of differing from the partial ordering ' \leq ' in \mathcal{A} , we denote it by ' \preceq ') in X is defined as follows:

$$x, y \in X, \quad x \leq y \iff d(x, y) \preceq \varphi(x) - \varphi(y).$$

Obviously, ' \preceq ' is a partial ordering in X and $x \leq y$ implies $\varphi(x) \succeq \varphi(y)$. Then (X, d) is called a partial ordering cone b -metric space over the Banach algebra \mathcal{A} .

Definition 1.6 ([9]). Let (X, d) be a partial ordering cone b -metric space over the Banach algebra \mathcal{A} . We say that $x, y \in X$ are comparable, if $x \leq y$ or $y \leq x$ holds.

Remark 1.7. Assume that \mathcal{A} is a real Banach algebra, $u, v, w \in \mathcal{A}$. The following results are clear.

- (i) If u and v are comparable, then $u - v$ and $v - u$ are comparable and $\theta \preceq (u - v) \vee (v - u)$.
- (ii) If u and v , u and w together with v and w are comparable, then

$$(u - v) \vee (v - u) \preceq ((u - w) \vee (w - u)) + ((w - v) \vee (v - w)).$$

2. Main result

By [6, 8], we have the following:

Lemma 2.1. Let \mathcal{A} be a Banach algebra with a unit e , and $x \in \mathcal{A}$. If the spectral radius $\rho(x)$ of x is less than 1, i.e.,

$$\rho(x) = \lim_{n \rightarrow \infty} \|x^n\|^{\frac{1}{n}} = \inf_{n \geq 1} \|x^n\|^{\frac{1}{n}} < 1,$$

then $e - x$ is invertible, $(e - x)^{-1} = \sum_{i=0}^{\infty} x^i$, and $\rho((e - x)^{-1}) \leq (1 - \rho(x))^{-1}$.

Lemma 2.2 ([8]). Let $x, y \in \mathcal{A}$. If x and y commute, then the spectral radius ρ satisfies the following properties:

- (i) $\rho(xy) \leq \rho(x)\rho(y)$;
- (ii) $\rho(x + y) \leq \rho(x) + \rho(y)$;
- (iii) $|\rho(x) - \rho(y)| \leq \rho(x - y)$.

Lemma 2.3 ([3]). Let $\{x_n\}$ and $\{y_n\}$ be two sequences in X and $x_n \rightarrow x_0$, $y_n \rightarrow y_0$ as $n \rightarrow \infty$. Then $d(x_n, y_n) \rightarrow d(x_0, y_0)$ ($n \rightarrow \infty$).

Lemma 2.4 ([5]). If E is a real Banach space with a solid cone P and if $\|x_n\| \rightarrow 0$ ($n \rightarrow \infty$), then for any $\theta \ll c$, there exists $N \in \mathbb{N}$ such that, for any $n > N$, we have $x_n \ll c$.

Definition 2.5. Two mappings $T, S : X \rightarrow X$ are said to be generalized φ -ordered contractive, if there exist $k_i \in P$ ($i = 1, \dots, 5$) with $0 \leq \sum_{i=1}^5 \rho(k_i) < 1$ such that for any $x, y \in X$, if x and y are comparable, then Tx and Sy , Tx and x , Sy and y , Tx and y , and Sy and x are all comparable, and satisfies

$$\begin{aligned} & (\varphi(Tx) - \varphi(Sy)) \vee (\varphi(Sy) - \varphi(Tx)) \\ & \preceq k_1[(\varphi(x) - \varphi(y)) \vee (\varphi(y) - \varphi(x))] + k_2[(\varphi(Tx) - \varphi(x)) \vee (\varphi(x) - \varphi(Tx))] \\ & \quad + k_3[(\varphi(Sy) - \varphi(y)) \vee (\varphi(y) - \varphi(Sy))] + k_4[(\varphi(y) - \varphi(Tx)) \vee (\varphi(Tx) - \varphi(y))] \\ & \quad + k_5[(\varphi(x) - \varphi(Sy)) \vee (\varphi(Sy) - \varphi(x))]. \end{aligned}$$

Remark 2.6. If $s = e$, $T = S$, and $k_2 = k_3 = k_4 = k_5 = \theta$, then Definition 2.5 reduces to the Definition 2.6 in [9].

Theorem 2.7. *Let (X, d) be a complete b -cone metric space over the Banach algebra \mathcal{A} and let P be the underlying solid cone. If two continuous mappings $T, S : X \rightarrow X$ are generalized φ -ordered contractive with $\rho(s)\rho(k_1+k_3+k_4)+\rho(k_2+k_4) < 1$, and there exists $x_0 \in X$ such that x_0 and Sx_0 are comparable, then T and S have a common fixed point x^* in X . Moreover, the iterative sequence $x_{2n} = Tx_{2n-1}$ and $x_{2n-1} = Sx_{2n-2}$ ($n = 1, 2, \dots$) converges to x^* and*

$$d(x^*, x_0) \preceq s(e - s(e - k_2 - k_4))^{-1}(k_1 + k_3 + k_4)^{-1}[(\varphi(x_1) - \varphi(x_0)) \vee (\varphi(x_0) - \varphi(x_1))],$$

where s is as in Definition 1.1.

Proof. Let $x_0 \in X$ be an arbitrary point. Put $x_1 = Sx_0$ and $x_2 = Tx_1$, then let $x_3 = Sx_2$ and $x_4 = Tx_3$. By the induction, a sequence $\{x_n\}$ in X can be chose such that

$$x_{2n+2} = Tx_{2n+1} \quad \text{and} \quad x_{2n+1} = Sx_{2n}, \quad n = 0, 1, 2, \dots$$

Since x_0 and $Sx_0 = x_1$ are comparable, we have by Definition 2.5 that $Sx_0 = x_1$ and $Tx_1 = x_2$ are comparable, and $Tx_1 = x_2$ and $Sx_2 = x_3$ are comparable. By the induction, it is easy to prove that for any natural number n , x_n and x_{n+1} are comparable. If n is an odd, then by Definition 2.5 and Remark 1.7 (ii) we have that

$$\begin{aligned} (\varphi(x_{n+1}) - \varphi(x_n)) \vee (\varphi(x_n) - \varphi(x_{n+1})) &= (\varphi(Tx_n) - \varphi(Sx_{n-1})) \vee (\varphi(Sx_{n-1}) - \varphi(Tx_n)) \\ &\preceq k_1[(\varphi(x_n) - \varphi(x_{n-1})) \vee (\varphi(x_{n-1}) - \varphi(x_n))] \\ &\quad + k_2[(\varphi(Tx_n) - \varphi(x_n)) \vee (\varphi(x_n) - \varphi(Tx_n))] \\ &\quad + k_3[(\varphi(Sx_{n-1}) - \varphi(x_{n-1})) \vee (\varphi(x_{n-1}) - \varphi(Sx_{n-1}))] \\ &\quad + k_4[(\varphi(x_{n-1}) - \varphi(Tx_n)) \vee (\varphi(Tx_n) - \varphi(x_{n-1}))] \\ &\quad + k_5[(\varphi(x_n) - \varphi(Sx_{n-1})) \vee (\varphi(Sx_{n-1}) - \varphi(x_n))] \\ &\preceq k_1[(\varphi(x_n) - \varphi(x_{n-1})) \vee (\varphi(x_{n-1}) - \varphi(x_n))] \\ &\quad + k_2[(\varphi(x_{n+1}) - \varphi(x_n)) \vee (\varphi(x_n) - \varphi(x_{n+1}))] \\ &\quad + k_3[(\varphi(x_n) - \varphi(x_{n-1})) \vee (\varphi(x_{n-1}) - \varphi(x_n))] \\ &\quad + k_4[(\varphi(x_{n-1}) - \varphi(x_n)) \vee (\varphi(x_n) - \varphi(x_{n-1}))] \\ &\quad + k_4[(\varphi(x_n) - \varphi(x_{n+1})) \vee (\varphi(x_{n+1}) - \varphi(x_n))]. \end{aligned}$$

From the definition of \preceq and Lemma 2, we obtain that

$$\begin{aligned} d(x_{n+1}, x_n) &\preceq (\varphi(x_{n+1}) - \varphi(x_n)) \vee (\varphi(x_n) - \varphi(x_{n+1})) \\ &\preceq (e - k_2 - k_4)^{-1}(k_1 + k_3 + k_4)[(\varphi(x_n) - \varphi(x_{n-1})) \vee (\varphi(x_{n-1}) - \varphi(x_n))] \\ &\quad \vdots \\ &\preceq [(e - k_2 - k_4)^{-1}(k_1 + k_3 + k_4)]^n[(\varphi(x_1) - \varphi(x_0)) \vee (\varphi(x_0) - \varphi(x_1))] \\ &= K^n D, \end{aligned} \tag{2.1}$$

where

$$K = (e - k_2 - k_4)^{-1}(k_1 + k_3 + k_4),$$

and

$$D = (\varphi(x_1) - \varphi(x_0)) \vee (\varphi(x_0) - \varphi(x_1)).$$

Similarly, if n is an even, then (2.1) is also holds. By Definition 2.5, Lemmas 2.1 and 2.2, and the condition $\rho(s)\rho(k_1 + k_3 + k_4) + \rho(k_2 + k_4) < 1$, we obtain

$$\begin{aligned} \rho(K) &= \rho((e - k_2 - k_4)^{-1}(k_1 + k_3 + k_4)) \leq \rho((e - k_2 - k_4)^{-1})\rho(k_1 + k_3 + k_4) \\ &\leq (1 - \rho(k_2 + k_4))^{-1}\rho(k_1 + k_3 + k_4) < \frac{1}{\rho(s)} \leq 1. \end{aligned} \tag{2.2}$$

For any natural numbers n, m with $n < m$, we have

$$\begin{aligned}
 d(x_n, x_m) &\preceq s[d(x_n, x_{n+1}) + d(x_{n+1}, x_m)] \\
 &\preceq sd(x_n, x_{n+1}) + s^2[d(x_{n+1}, x_{n+2}) + d(x_{n+2}, x_m)] \\
 &\vdots \\
 &\preceq sd(x_n, x_{n+1}) + s^2d(x_{n+1}, x_{n+2}) + \cdots + s^{m-n}d(x_{m-1}, x_m) \\
 &\preceq sK^n D + s^2K^{n+1}D + \cdots + s^{m-n}K^{m-1}D \\
 &\preceq s^n K^n D + s^{n+1}K^{n+1}D + \cdots + s^{m-1}K^{m-1}D \\
 &= [(sK)^n + (sK)^{n+1} + \cdots + (sK)^{m-1}]D \\
 &\preceq \left(\sum_{i=0}^{\infty} (sK)^i\right) (sK)^n D \\
 &= (e - sK)^{-1}(sK)^n D.
 \end{aligned}$$

By Lemmas 2.1 and 2.2, and Eq. (2.2), we have $\rho(sK) \leq \rho(s)\rho(K) < 1$, and

$$\|(sK)^n\| \rightarrow 0, \quad n \rightarrow \infty, \quad \text{and} \quad \|(e - sK)^{-1}\| < \infty. \tag{2.3}$$

By Lemma 2.4 and the fact that $\|(e - sK)^{-1}(sK)^n D\| \rightarrow 0$ ($n \rightarrow \infty$) (by (2.3)), it follows that for any $c \in \mathcal{A}$ with $\theta \ll c$, there exists $N \in \mathbb{N}$ such that, for any $m > n > N$, we have

$$d(x_n, x_m) \preceq (e - sK)^{-1}(sK)^n D \ll c,$$

which implies that the sequence $\{x_n\}$ is a Cauchy sequence. By the completeness of X , there exists $x^* \in X$ such that $x_n \rightarrow x^*$ as $n \rightarrow \infty$. Moreover, $x_{2n} \rightarrow x^*$ and $x_{2n+1} \rightarrow x^*$. Now we prove that $x^* = Tx^* = Sx^*$. The continuity of T and S implies that

$$x_{2n+2} = Tx_{2n+1} \rightarrow Tx^*, \quad x_{2n+1} = Sx_{2n} \rightarrow Sx^*, \quad n \rightarrow \infty.$$

Hence $Tx^* = Sx^* = x^*$. That is, x^* is a common fixed point of T and S .

Moreover, from Lemma 2.3 and Eq. (2.1), we get

$$\begin{aligned}
 d(x^*, x_0) &= \lim_{n \rightarrow \infty} d(x_n, x_0) \\
 &\preceq \lim_{n \rightarrow \infty} \sum_{i=1}^n s^i d(x_{i-1}, x_i) \preceq \lim_{n \rightarrow \infty} \sum_{i=1}^n s^i K^{i-1} D \preceq s \sum_{i=1}^{\infty} (sK)^{i-1} D \\
 &= s(e - sK)^{-1}[(\varphi(x_1) - \varphi(x_0)) \vee (\varphi(x_0) - \varphi(x_1))] \\
 &= s(e - s(e - k_2 - k_4)^{-1}(k_1 + k_3 + k_4))^{-1}[(\varphi(x_1) - \varphi(x_0)) \vee (\varphi(x_0) - \varphi(x_1))].
 \end{aligned}$$

□

Remark 2.8. If $T = S$, $s = e$ and $k_2 = k_3 = k_4 = k_5 = \theta$, then Theorem 2.7 reduces to Theorem 3.1 in [9].

Remark 2.9. If $T = S$, $s = e$ and $k_4 = k_5 = \theta$, then Theorem 2.7 reduces to Theorem 3.3 in [9].

Remark 2.10. If $T = S$, $s = e$ and $k_2 = k_3 = \theta$, then Theorem 2.7 reduces to Theorem 3.5 in [9].

Acknowledgment

This work is supported by the Natural Science Foundation of China (11571136 and 11271364).

References

- [1] M. A. Alghamdi, N. Hussain, P. Salimi, *Fixed point and coupled fixed point theorems on b-metric-like spaces*, J. Inequal. Appl., **2013** (2013), 25 pages. 1
- [2] I. A. Bakhtin, *The contraction mapping principle in almost metric space*, (Russian) Functional analysis, Ulyanovsk. Gos. Ped. Inst., Ulyanovsk, **30** (1989), 26–37. 1
- [3] L.-G. Huang, X. Zhang, *Cone metric spaces and fixed point theorems of contractive mappings*, J. Math. Anal. Appl., **332** (2007), 1468–1476. 1, 1.3, 2.3
- [4] H. Liu, S. Y. Xu, *Cone metric spaces with Banach algebras and fixed point theorems of generalized Lipschitz mappings*, Fixed Point Theory Appl., **2013** (2013), 10 pages. 1, 1.2, 1.3
- [5] S. Radenović, B. E. Rhoades, *Fixed point theorem for two non-self mappings in cone metric spaces*, Comput. Math. Appl., **57** (2009), 1701–1707. 2.4
- [6] W. Rudin, *Functional analysis*, Second edition, International Series in Pure and Applied Mathematics, McGraw-Hill, Inc., New York, (1991). 2
- [7] M. H. Shah, N. Hussain, *Nonlinear contractions in partially ordered quasi b-metric spaces*, Commun. Korean Math. Soc., **27** (2012), 117–128. 1
- [8] S. Y. Xu, S. Radenović, *Fixed point theorems of generalized Lipschitz mappings on cone metric spaces over Banach algebras without assumption of normality*, Fixed Point Theory Appl., **2014** (2014), 12 pages. 2, 2.2
- [9] J. D. Yin, T. Wang, Q. Yan, *Fixed point theorems of ordered contractive mappings on cone metric spaces over Banach algebras*, Fixed Point Theory Appl., **2015** (2015), 13 pages. 1, 1.5, 1.6, 2.6, 2.8, 2.9, 2.10
- [10] C. X. Zhu, C. F. Chen, X. Z. Zhang, *Some results in quasi-b-metric-like spaces*, J. Inequal. Appl., **2014** (2014), 8 pages. 1